BAl AVABAI F. PETIT GIRLS’ HIGH SCHOOL

FIRST PRELIM!NART’ EXAM!NATION (2018 - -2019)

B Pager MATHEMATICS

: ,‘STD x i P : DATE: 03.12.2018

- MARKS: sa TIME: 2% Hrs. +15 Mins.
A ey ' Reading Time:

I

swers to th;s Paper must be written on the paper prowded separaiely.
You will not be allowed to write during the first 15 minutes.

~ This time is to be spent in reading the question paper..

The tlme grven at the head of this Paperls the time allowed for writing the answers

Altempl all ques!:ons from Section A and any four questions from Section B.
Al WOrkmg, mcludmg rough work, must be clearly shown and must be done on
- the same sheet as the rest of the answer.
Omission of essential working will result in loss of marks.
The mtended marks for the questions or parts of questions are given in the brackets | I
' Mathematical tables are pro vrded

- - SECTION A (40 MARKS)
( Answer all lh_e questions fro_m this Section) o

Question 1

- 9 AMBIKABOOK DEPOT
<8 Given [_; i X =[Z g\bp No. 4, Rangoli, Vasant Utsav, o)
Thakur Village, Kandivali (E},
|) Write the order of the matrix X _ qubal 400 101.
" ji) Find the matix X ~ Mob. 9821263050, ‘
B  MrGupta opened a recurring deposit account in a bank.He deposited 2 3500 per [3]

_'month for two years. At the time of malurity he got T 67500. Find

i) The totalinterest arned by him '

i) The rate of interest per annum _
vy~ There are twa dice; one red and one black Both are rolled simultaneously. Calculate | [4)

- the probability that !

i) The number on the red diceis 3

ii) Each dice shows five

iii) The number on the black dice is either 2 or 4 L

iv) The product of two numbers is odd. '

This papér. coansists of 7 printed pages and one blank page. i Turn aver
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Question 2

/a‘)/’ The surface area of a solid metallic sphere is 616 c:m2 Itis melted and recast into (3]
smaller spheres of dlameter 3.5cm. How rany such spheres can be obtained?

' ,,b‘)/ in a flower bed there are 23 rose plants in the first row, 21 in the secondrow ,19inthe  [3]
third row, and so on. There are 5 rose plants in the Iast row. Find the total number of
rose plants in lhe flower bed

\/G)/ In the gwen fit igure 0 is the cenlre of the cnrcle .Tangents atAand B meet atC. (4]
If £ACO =30° find ) | .
)£BCO °  i)£AOB i) ZAPB

-'l.’ — - N

A

5 Ep()
‘ \\, \lau putsaYs
s X “,..\_30 ‘ ‘anA\\rd\' k’l‘f- )
i -£00 0
- 3 253%3&& _
Question 3 | . _
vay”  If(x—2)isafactor of 2 - x¥—px — 2 R 3]
i) Find the valueof p
i) With the value of p factorise the above expressaon completely 7
/b) Prove that sin 6 ( 1 +tang) + cos <) ( 17+ cot B) sep 9 + cosec 8 - (3]
/ Plot P(2.4)andQ(-2,1 yandR (5,0) dr;-agraphpaper N . [41'

i) ReflectP and Qin x axis to get P! and Q" and write their co ordinates
i) Givea geometricél name to the figure PQQ'P'R .

i) Find the area of the figure .
iv) Wiite the equation of the line QQ",
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Quectlon A TN e B WNVB‘J' ’ |
- Solve the fO"OWl"Q lnequatlon wrilé the salution set and represent it on @ number. line (3]
3x
4x - 19 < =R e D —'-2-"*';(, xeR
¥ 5 ft 5
P (3.4),Q(7.-2) and R(—2 -1 )are the vertices of th triangle PQR. Write down  [3]
ihe equation of the medlan or the triangle lhrough R.
The mean marks’ obtamed by 50 sludenls in atest is 62.8 where a and b are two [4) |
missing data Fndaandb Sneniie . i :
Marks "0- 20 20 40 | 40-60 | 60-80 | 80-100 [ 100-120
No. of students 5 al 10 b R e
- . 'SECTION B - 40 MARKS
: (Attempt any 4 from this Section)
‘Question 5 :
- : .
A DL 3)
The first term of a G.P. is 27 and 8" term is % Find the sum of its first 6 terms.

u/b')/ Mr. Parekh invested ¥52000 on 100 shares at a discount of 320 paying 8% dividend.  [3]
At thp end of one year he sells the shares ata premlum of 20.Find | |
l) The annual d'\ndend S - | ' .

ii) The profit earned including his dividend

‘/{) Construct a triangle BCP where BC=5cm , BP= 4cm, /PBC = 45" Complete the (4]
rectangle ABCD such thal ' W
i) Pis equxdnsl_anlfr‘qm AB and BC
ii} P is equidistant from C and D
iii) Measure the fength of AB
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"3‘"; '3 j\) Question 6
I?l ”. _g ) ‘-t x ' ‘/ar If XZ + 3 17 Use i ) B
Fﬂ D X-y — 8 Properties of pr9porﬁon to find the value of ;| : 3]

o™ gt i) x:y - ' e
E;,,.' N 1 R ‘ i) X +y° -
e ",) o X -y’
- %!Q .
r B 1 Vb,/ Given A= [P 0] B= [ 2 -2 2
I_,___! i 39 ] [2 ] and BA=C F‘ nd the values of pandq &)
e :) -C) In the given figure, find th s g n .
I S A . , TINa the equation of the lllne through P ( 5, 4 ) making an angle of 4]
-UID ; 4-5 with the x axis. Also find the co- ordinates of Qand R '

v

AMBIKA BOOK DEPOT -
Shop No. 1, Rangoli, Vasant Utsav,

Thakur Village, Kandivali (E)
Mumbai - 400 101, i

Mob. 9621263050

LA\

~Quesuon 7
‘;), Solve and give your answer correct to 3 significant ﬁgures . (31
_ (x—1)* -3x+ 4=0 '
: bﬂ/ On amap drawn to a scale of 1; 250000 .a _triangular plot of land has the follawing {3
measuremems T - o .
AB =3cm , BC =4 cmand ZABC = 90°, Calculate
i The actual fength of AC in km ii. The area of the plotin sq km
._,4 Prove that - ; o ; (4]
1+ (secA—tanA) = 2tanA ,

Cosec A ( secA ~tanA) -

2
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Question 8-

\/af A shopkeeper buys a ceﬁairi number of books for T720 I the cost pet Lookwas &
less, the number of bocks that could be bought ford 720 woukd be 2 more,

. Tzking the ong:nal cgs‘t of ezch bock to bs

,/b‘{ 1fa, b, carﬂdaremprooommprm*u

Ix . wite an equation in x and sohe L

N
Jat+c¢ = ma*+ndd
Vbt +dt ‘mb? +nd? o
_/z)/ Constmd a :eg.ﬂa‘ hexagon of side 5 cm. Inscribe a cirde N lL 4l 3
e
A € “" Question 9 - 3 "
2)  If one root of the quadralic equation (k+ 1) -k 10 =01is 2, find the value of X 8 ‘
and the other rooct
b)  Inthe given figure ABC is a triangle with ZEDB = ZAGCS . Prove thal AEDS -4 ABC &)
1iBE=6an,EC =4 cmBD=5cmand are2 of A BED = Sem®: Calculate the
i Length of AB .Areaof AABC
. * Q\\';S '
- b b"“ \\t"
e%\\ N
e B
}@ " ‘3"\' )
N \s NS
—— @“ W
%\Q
c) Asold cylinderof silver 9 cm high and 4 cmin diameter is melted and recastinto a &)

right circular cone of diameter 6cm. Find the height and the total surface area of the

cone. Give your answer conect to one decimal place ( take w=3.14)

-

17

Scanned by CamScanner

AR ARAARR[E




- Question 10

e
77 What number should be sublracted from) 7,
has a factor 2x -3 7
J)/ In the given semicircle vith cenlre O | tangent (f
C. Given /DAB = 2g° . Calculate

i) 4DBA, il) £C and liy ~BDC

-1 % By sp) ik
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\/ From two points A and B on the same side of the building , the zngle of deztion of (4]
the top of the building are 30° and 60°.If the heignt of.the buiiding is 10m find the
distance between A and B comecled lo the nearest whole number,
Juestion 11 .
a) The follw;ing table.gives the weight in kgs of 200 students. Usz 2 graph shest and &)
draw an ogive for the distribution. ) -
Take a scale of 2cm. =10 kg on one axis and 2cm. = 20 stidents on the other 2xis.
Welght inkgs. | 4045 | 4550 | 5055 | 55860 | 6055 | &0 | 555 1555
No. ofsmdeqt;. 5 17 22 45 51 3 - 29 ‘ S \

Use your graph to estimate the following
i) The median
ii) The upper quartile ) :
i) The percehtége of students weighing 55 kgs. or more
iv)  The weight above which the heaviest 30% of the students fall
v)  The number of students who are underweight if 55,7 kg. is the standard weighL_

6
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\./E)/ In the dircle with centre O chords AB and CD intersect externally at pPand PTisa

(4]

tangent to the circle 5t T.
if PB=12cm.AB =15 cm and DP = 6 cm . Find the length cf i) PT i ) radius..

)
L
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